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TEACHERS RECRUITMENT BOARD, CHENNAI - 6
- Written Competitive Examination for
Recruitment of BRTE in SSA ( 2008 - 2009 )

CHEMISTRY

Time Allowed : 3 Hours } [ Maximum Marks : 150

Each question carries four options namely A, B, C and D.
Choose one correct option and mark in. appropriate place in the
' OMR Answer Sheet.

gaUCarg aflorraiped A, B, C vppe D adrp prévg ol sef §JUUL®sﬁﬂrm ‘
sflurer aflm_auw CprpCs@sa OMR allasgreiles Sysparea @Lgﬁm
@gﬂlﬁ\l_cqm

: Who was the Viceroy of India, when the Rowlatt Act was passed ?

A} Lord Irwin B)  Lord Chelmsford
C} Lord Wavell D) Lord Wellington.
Qperei. &L b peaLpeplu@ssiiucL Curg eveulgrurs @imhEseut wrir ?
A @refler Gy _ B) GsbevBuri® Sy
C) GeuBeusd iy D) Geuella e Siyy.
Which one of the following is the softest ? ‘ _

A Sodium B) Aluminium

C) Iron D) Lithium.
Spsacor_euppiet ag Dmpsaurears) 7 o .

A Gemguwibd B}  smubahub

0 @by ' D) eSpdub.

As a non-member who can participate in the proceedings of either of House of
Parliament ? ’

A) Vice-President ‘ B) Chief Justice
C) Attorney General D) Chief Election Commissioner.

BILTEweD GG Hoauselgd epuflet sders qurrr GHeuT  Féu
- BLougsosselld L Gamerer Guend 7

A)  gevawt GRUTHS seneveurt B) soeow ££Iu$l
C  elLmtel Qgenyé D) seamon Gaips oy,
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4. Which is the river on which Indira Sagar Dam is planned to be constructed ?
A) Mahanadi ' B) Godavari
C) Krishna ' D) Narmada.
aihs 2 pPier @uets @g‘;@qrr ETET Jjenemr Sl ﬂl_l_l.&u_uul_@sl‘rerrgj ?
4 vearpd 7 B) Gampreufl
C) dmeiyewrn D) progr.
5. The first astronomer who gave the idea, ‘The earth rotates on its axis’, is
A} Bhaskara _ B) Aryabhatta
C) Varaharmhjra D) Kalpana Chawla.
yall geir 2iédle argpeueﬂg)gl FeTuos Wedd aflalss arefud mmgu!bﬁ' Qummqé& |
MG i
A urdvsgT - B efluucd
O eugrediblaip - D) eduer sreuen,

6. Which one of the following angles cannot be constructed using an unmarked
ruler and compass only ? :

A 75° | : B 90°
c) 50° | | D 223"

a?gp#,eﬁrf@jlb Carexn syenaysefie serallluirg SeraGard whpb Smbudes
2 gellurd ahp CaTamidang suemgu @uemg ? '

A 75 _ B) 90"

¢ 50° ‘ D) 22-% . - B
- 7.  For a Frequency Polygon, the points are plotted against |

A)  mid-point of the class interval vs frequency

B) lower limit of the class interval vs frequency

C) upper limit of the class interval vs frequency

D) real limit of the class interval vs frequency.

B seeal ualarampdld yerelasr agbe sr@grresea @gSléaa.uu@an)gj ?

4  agly e Ceealldleé pEUYsTal vs SiFItQeucdor

B augiy G Ceefiflan Spaurbiysie vs SifitCleuesa

C) sugly e eueallfle Guseurbylistel vs iliTGleuedor

D) eawly Qe Cweflfler 2 a@maw aybyiyeiefl vs slirQeucdor.



- 10.

11.

12.

AICTE was established in

A) November, 1945 B) November, 1955

C) November, 1985 D} November, 1975. -
AICTE filjieutinc L gy eor(® S ‘

A)  peubur, 1945 B)  meuibLrt, 1955

C) meuburr, 1985 D} meubury, 1975.

“One of the main publications of John Dewey is ~

A}  Secrets of Childhood _ B) Educatlon 'I‘oday

C) Education of Man , _ D) ‘The Social Contract.
grer Glaledr QeuefliPeasie wpodluoreang

A @pbosl uGa Feub B) @eenpué sdai

C) ovaigailear adoal - D) swsTu GULBSD.

According to David Ausubel, “Verbal Learning” is

A) learning a new language l

B) oral practice -

C) understanding verbal information

D) passive learning experience.

GLal syaGucedlsr amdgiiug sumbeufls sbpe: eremgl

A yduwGwmfl peéteons shns Cereaug)

Bl  eurbGurfio udipé

0 arbayfs peaudsamen yfihgoareraug

D) Qewuephp SHDE L.

The Southern Regional Office of UGC is in _

A) - Hyderabad B) Bangalore

C) Chennai " D) Mumbal, |
Ldsme&HSHPs Dralus G (UGC ) alldr QEh@ DTS UNSD Sjelobgeien
Giv :
4  evangyTUTH B) OQuhasest

C) Gediamen D) (pbenu.

National Population Policy was evolved in the year’

Al 1976 _ B) 1979
C) .1986 D) 1977.
Bzélu wéaer Ligrens Glaarretrsma ngm@aﬂ&»&uuL_L_ %de@
A) 1976 ' B) 1979
C) 1986 : D) 1977.
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13.

14.

15.

4
According to Abraham Maslow, ‘Self-Actualisation’ in the hierarchy is

A) first step ' _ B) final step

C) third step D) fourth step.
2rrsrD wrev@ar-aler ug sl Faralopey aaug

A s Pow Bl Qog Hleoe

Q)  eperprd Hlene D). mreéismd Heve.
Who is the author of 'Emile’ ? .

Al Dewey B} Bertrand Russell
C) Froebel D} Rousseau. '
‘Emile’ areugper 2y Sifur

A @l | B Quitgan’ revevé
Q) Sulrmrllue D) epGeum.

The university that has no affiliated colleges is
A) Madras University

"B) Madurai Kamaraj University
O Thanjavur Tamil University
D) Manonmanium Sundaranar University.

16.

17.

shgriad Gemana) aume LUGSHDNGHPHD TRTLISNNTSE!

A)  Osatenet UNSNNESPEHD
B) geon STLTET Lasmeneshspal
Q) sehes slp LasmNESPSHD

D) wCamennaiud ShayaTt LIhsenasapsib.

Human Rights Day is

A)  December 10 o , B) December 7

C) December 26 D) July 7.

wefg 2_Menweer Serbd eeug

Al wewut 10 B) wgebut 7

Q). 'Lo,mbur'r 26 | D) goow 17.

Which one of the following models is not on .curriculum development ?
A The Tylor model ' B) | The Ausubel's model
C) The Taba modél D) The Hunkin's model.
EpsacaLapper ag soall ghur@ auentsflée Qgr_iléarsg ?

4)  evLei wrgfl B  osGudaer wrgfl

Q) L wrglm D) gbs&nf,\e&mﬁls&r wrgifl.



18.

19.

- 20.

21.

The chief objective of pre-primary education is to promote .......... of the
child. _ _ '
A) physical development B}  mental development

C) social development D) overall development.

@& rbussaallar widu Cpréswrearg
A 2L auentyd .gqﬁla,rﬂggé\:

B uwaiauaiifou sfansss

C  sgaru auentéflou sHsfssea

D} gl@bwrs suemtéSlenw Sidlafsze.

If the teacher finds in leamer's actiﬁties something new or original, then the .
child is supposed to be

A)  intelligent C B) creative

Q) ecritical ; : D) motivated:

G Gphogllsr sppe Qammun@saﬂm gGzgud UHsTe SGNg SLLTEETE GO
4 Sifhut SR DipETH Sibss GpPhosLTES

A  ysdlemedl ' B) ﬁj&agé}@g}ml_mmfr
O dpemieydsseat | D) emé@aléaluLeut.
Which one of the following 1s not a leaming domain ?

A)  Cognitive domain B Psyéhohlotor domain
C} Physiological domain ‘ D) Affective domain.

- EpssILaIbnIEt STHhE G SHPG L@ Gdersg 7

A spflen ugd B) 2 er-Qusslugd

el 2.t eblwdh ugd) | D) e eonisdll ugd.

An example of anthraquinone dye is
4A) alizarin o B)  methyl orange
C) methylene blue 'D) phenolphthalein. -

A psr@eliGarafiich srusHbe aPsasaT G

A yellemfler B) GQusgdlé suyehe

C) Ousdlelen foud D)  Jerdnigelen
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22. Among the following which one is not the correct match ?

23.

24..

25,

A) Silk — Polyamide

-C) Lipase — Ester

Aebreumeustteupmyel erg sfluren Glenawr e 7.

A)  #dd — urellen(

C) ealGuev — ereuLft

Acid rain water contains

Al acetic acid

C) carbonic acid

Sfbler wenp Bfles 2 aten yblevd
A oifigs spbleoid |
Cl  ariGurafé Spbflevd
H,C—C=NOH

|
H,C — C = NOH

The common name of this compound is

A)  Methyl carbohydroxide

C). - N-hydroxy 1 methyl ethane

H,C — C = NOH

|
H,C — C = NOH

@¥Cstuvsdlet GLurgLGLWT

VAT e;rrr'r(BufrmgmL'.rjrréaém&@
C) N-waplgrédl 1 Gwde #5Gsen

In human body, carbohydrates are stored as

A) starch

" C) glycogen

msoﬂg-s_t._a‘ﬂd). srrGur enapl Gyl Bssh

A)  doLmrE

C) aﬂ]msn&a@a,rrgeﬁr

- B)

D)

B)

D)

B)

b

B}
D)

B)

D)

B)_

D}

B)
D)

B)

D)

- Indigo — Azo dye

Keratin — Protein.

@\aorg S — Camemuid

Qg sir — LGy e

sulphuric acid
nitric acid.

seullyfé sublewid
opfé sibeibd.

Dimethyl carbene hydroxide
Dimethyl glyoxime.

sml.@mgﬁ\e’u ST LT &Heng(H

L Qudd Haenursansh.

cellulose

fructose.

.............. rree 208 CEDEHEULIGD.

Q& deyCevrein

Ly &GLmre, -



26.

27.

28,

29,

Riboflavin is an example for |
A)  coenzyme B) antacid drug
O nucleoside D)  antimicrobial drug.

‘ rﬂGer&UGsuaﬁls&: T8pe TGpgsHsTH

A g Qprd o B et sfle @b
0 PusdefCurens® D) et pirguif uEbe.
For obtaining golden yellow spangles which reagent is used on a leéd salt ?
A  Mercury fodide Bl  Zinciodide ’
C) Potassium iodide | D) Mmum iodide.

Quranflp Ble6ir & el L@sﬁrrsug;b@. arfu e ly_dr s srrel vudtuBdps 7

A Gwuirel SGuraL® B) &is lureL®.
C) Guriinélud HCren-@ D) SCureiud SGura@.
What is the enthalpy change for the reaction H, +1, = 2 HI if the bond

energies of H - H, 1 -1 and H - I are 433, 151 and 299 kJ mol"l
respectively ? - ' '

A 28 kJ- - B) -28kJ
C -14kJ D) 14 kJ.

H-H, I-Topge H-I1Soanuysddr Soariy gpposs peaplu 433, 151
whHpud 299 kJ mol~! e«fllé H, + I, » 2 HI ailmenilesr eetrgréll wrppengs

Lo 2
A 28 kJ B) -28kJ

Q -14kJ D) 14 kJ.

Selection rule of rotational spectrum expects transitions between rotational
energy levels ( J), where

A AJ==3 , Bl AJ=O

O Ad =zl ' D) AJ = =2

sphél Byelis, &@ﬁ)éﬂ SUbpe LiLksE@sHor s (J) GLotuute efiss Grg ey _
Y i -

AN AJ =23 B AJ =0
QO AJ =zl D AJ = 22
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30. The acid radicals mainly responsibie for increasing BOD levels are
A) sulphates and bicarbonates B) carbonates and bisulphites
C) nitrates and phosphates D) thiosulphates and fluorides.
BOD ui Lsos fefsss Qelyb padly Sifle epiise
A  &oCul@aer wHpb ousrTuGsrBeelr |
B) - sriuCarl &6l LHHID LU RS
O eoprCor Gost wpnid LTEGLLGEE
D) sCursaCul s wHpbd LepaFHaeT.
31. Which of the following is the swéetest ?
Al Sucrose B)  Glucose
C) - Fructose - D) Cellulose.
Weireugpeusteupmer Sifle @afliybgenevueieng ag ?
A)  #&Cymev | ‘ . B  Gepslamey
C} Op&Gmen - D) QeagGard.
32. The R factor if in thin layer chromatography the solvent front moves to 5-4 cm

and solution front moves to 0-9 ¢m, is
A 6 B 09
o 1.7 . D) 0-17.

 Quadu S@se mstaruifosdie sogiurd parfa 54 68 i I.I.|LD HDIER
pe&fey 0-9 @818 Yb GHHSLTTITE S Rfmﬂusmu E.Guzm_ﬁsa

A b6 ‘B 09
(o D)y 0-17.
33. Mutarotation does not occur in |
A) D—élucose B) L-glucose
Q D—frtictose | o D) Sucrose.
By & phd peoCuprg Geimob
A  D-sensCamev ” B) L-gean&Gameu

Q) DugsGumev D) &&Cyweu.



34.

35.

- 36.

37.

Nessler’s reagent contains

A) tri-iodomercurate (1) ‘B) tetratodomercurate { 11 )

C)  tn-lodomercury nitrate (1) D) tetralodomercury nitrate (I).

Qgsh)ﬁ:ﬁ' syesfldlcs 2_efrer @sitoid

A) Loy QurGLr GwtgGr (1)

B Guigr siGurir Quig@r (11)

O Loy SCurCGLr Cuoirgflanp Gy (1)
- Dl Guigr gurGLr ‘er‘r@ﬂmrrr‘,l;(Bm'_' (1)

u—glucose and $-glucose differ in the orlentation of - OH group at carbon,

A c, B cC,
Q C, - D) C,orCy. _
. o-@@r&Cardpe b B-owmsCardlpen GeL fgiciear Haoswrbp (Bsugjurr@ OH

Qsred Gowmpgeiar aps sflugared ghuhdps

A C, : B C,
‘g c, D) C,séasC,.

Which of the foliowing equations is not correct ? |

A C,=C,+R Bl AG=AH-TAS

C AS-= aiT'e”-— | D) dH=VdP- TdS.

Qesraumid eweTuT@seien srgj &rﬂu.uprpg.l ? |

A C =C,+R : B) ‘AG=AH—TlAS

C AS = a—q%’ D) dH=VdP-TdS.

BHC is sparingly soluble in reesseeninnnenn, SOIVENt.
A} water ' _ Bi benzene

C) diethyl ether ‘D}  ethanol.

BHC S&@enpeurs semyub senyLiumes

'A) B | B) Queirden

C) oLrangd FEsiT D) eagaenmen.
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38.

10

Observe A H and A S values of the following processes and choose which one
will not proceed spontaneously ?

A) AH:positiveandAS=0'

B) AH-=negativeand A S ='negat1ve

C) AH=positive and A S . negative

D) AH= negative and A S = positive.

Jderaupd QeswudurPagsdbe A H A Swpiliysamers Qaran@® Supde g

- perefémsurs QeuduLTg saTunss CsNEOs0

A .AH=Gmr'r@gﬂ whpd A S=0
B) AH=eadlted vhpb A S =adigh
C) AH=CGpref wppnd A S=adiegf

- D) AH=adigd wpgd A S =CrieH.

39.

Lanthanide contraction is observed in"’
Al Gd B) At

Q) Xe ‘D) Ac.

40.

41.

[4]

QThHOEH GR&ESD HreLRD SoHod

A Gd B At

O Xe _ : D) Ac.

The number of possible alkynes with molecular formula C  H ; is

A 2 s ‘ B 3 ' Co
0 a4 - D) 5. - -
CgH g tpavdhsag aumur® Claredom_ 2y, sene e efler oo amflsens

A 2 o y B 3

C 4 - D) 5.

The group with -1 effect is - |

A) -CgHg B) -CH,

Q. -CH,CH, - D) -C(CHg),.

=1 llemerey g Cam@d

A -CgH, - : B) -CH,

O -CH,CH, = D -C(CHy),.



42.

43.

44.

45.

]
log k = 15.0 - 13—

. uno 808
Phenol is less acidic than which of the following ?

A) onitrophenol - ' B) Methanol

C) Ethanol o : D) - p-methyl phenol.
NeteumeusTeup et aremns - S Sofenes Gophs Sidessdrans CLbng ?

4  oeoplGrriaimé . B Qussamé

C) apsaméd D) p-Lusdédama.

The first order rate constant k is related to temperature ( kelvin ) as -

log ik = 15-0 - 1%_6 Then the values of Arrhenius frequency factor A and

energy of activation E | are
A A=1015.Ea-19x104kJ
Bl A=10"1%; E_ =40kJ

a

C A=10Y%; E =40kJ

a

D) A=10"15; E, =19 x 104 kJ.

goug aloader afloaGus wrfed k wyb, G\muu@mw ( Qacailen ) yh

7 ST eweTum e Lig Qgmfy QubBlehaTe sisuallasrilien

aﬁmﬂmm Sifhtey wrhledl Awphgud Herey Qﬁrrsfr 2o E , o fluaipiler Loﬂuqem‘r
Al A=10"%; E_  =19x10%kJ

' B) A=10".E_ =40k

Q) A=10%; E, =40 kJ

D) A=10"%; E, =19x 104 kJ.

How many fundamental modes of vibration are possible in water mclecule ?

A 0 B) 1

o 2 D 8

Bt apedsadlés agganer SlglumL FiTe) umasar @Gimsaambd 7
A O _ B 1

G 2 D) - 3.

Two moles of an ideal gas expand isothermally and reversibly from 1 litre to
10 litres at 27°C. The enthalpy change in this process is

A 114 kJ ' B -1141kJ

C OkJ D) 4.8 kJ. _ C
Qavufloe orpr e Qeudhurigd GG Curéser povelludy eury 27° C &

1 AL feflmihe 10 L Bée afifluampsrer ghu@id ereirgmeud] wmppid
4 114 kJ Bl -114kJ
C) OokJ D) 4-8 kJ.

[ Turn over
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46. The number of nodal planes, a 4d orbital has is

Al  zero B) one
- Q  two D) three.
4d g _wedles 2 eirer Sy gerhisellest eretoresama,
A uggud B gep
Q @yen® D) wep.
47. Match List I correctly with List IT and select your answer using the codes gtven
below :
List I List I1
Substrate - Product on treatment with HNO ,
a]  Aliphatic primary amine _ 1. p-nitroso compound
b}  Aromatic primary amine 2. N-nitroso compound
¢}  Aliphatic secondary amine 3. alcohol + N,
~d  Aromatic tertiary amine’ 4.  diazonium salt.
Codes :
' a b . ¢ d
A 4 3 1 2
B 4 2 1 3
a 1 2 3 4
D) 3 4 2 1.

utgud Ie wlgud e L dr Qurmsd é’Gg: Gar@salulPeren @@ﬁ@ﬁmmds
Qarar® sfluren udames Ggrr;f;@g@ _ :
uCigwés I | T uwlgue T
eflenesru@ Gurelr HNO , 2 ¢ aﬁlmesru&@
_ G]ug)uu@m allemer Qurru_r,ﬂ'r
a  Seuriiys glleveou syl

1. p-oplCrrlsr Gatwd
b)  Cymorigé giflememny syl 2.  N-op.@yrGsr Cetuwb
c)  Sflumiys rflevesry gyfeir - 3. Sosanme + N,
d)  SCrmolyé apelenammu e 4.  eorwCsraiiubd 2 Oy,
elpset : |
' a b c d
A 3 1 2
Bl 4 2 1 3
O 1 2 3 4
D) 4 2 1

@



48.

49.

50.

13 ' §-05
Maximum number of unpaired d-electrons are present in |
A zZn2+ | B Fe?*
C) Nj2+ - D} Cu*.
a@a.ul‘_&_ @emaC@anr d-erevdL et ercimesiéans Caravi. weh
A) 2Zn2+ | B) Fe?*
o M2+ ~ D) cCut.
The spin magnetic moment of cobalt in Hg [ Co ( SCN .] 4 ] is

A V2 : 'B) V3
Q) V8 D) V1B
Hg [ Co(SCN}), ] & Garurdlger srphd amhs 2 Heid
A V2 | B 3
) V8 ‘ D) 15..

Propene undergoes electrophilic addition with HBr, but not with HCN because -
4A) Br- is better nucleophile than CN-

B) HBr is stronger acid than HCN

C) HCN attacks preferéntially through lone pair of nitrogen

D) C - Brbond is stronger than C - CN bond. |

y@grifesr HBr oLt aavdlprer st Gstéos ofoadileds FOUGHDS o arme
HCN 2L Q)duailanar perCuie.s Gévene sryemh

- A CN-ow afl. Br-flpps s@sat sresi

51.

B} HCN eow &)L HBr eifludlés oflen

C) eplgpaile oo gafl aastrrer GyloL wpewrs HCN sflameanfldpg
D) ' C-CN deeamieu el C - Br oy susyeysteng.

Both sp and sp? hybridisations are present in |

A)  acetylene B) vinyl acetylene

C) methyl acetylene D) dimethyl acetylene.

spuppd sp? s du Gran@ Geissaly camassesb 2 eter Catwib .

A g eledn B} alemaié ligeledn
0 Gusdée &L 19 6f6dT D) eLQuide Hdlgelar.

[a]
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52, Geometrical isomerism is shown by

A) glycerol
B) glyceric acid
C} crotonic acld
D) malomé acid.
Qg g@en@mvﬂ&ﬁ 2 efrer Goimod
A) deflegré
B) deflsfis suled
O  eCprinefls QL&@)L’D
D) wGerefls oifleib.
53. Hydrogen shows negative Joule-Thomson effect at room temperat_ure because .
‘4A) it is the smallest molecule
B) itis the liglﬁest gas
C) ithas hydrogen bonds
D) it has very low inversion temperature

§J|a»m Qmuu;ﬂmmuﬂm QDL DESS srgﬂrrmsmmmrrsur g@d\:-g,rrw&m nﬂmsrrcq
- ghu@Spg. goleeié mnggm

A dssddu @méwamm&: Caro_gl
B) Jds se s Geopips eury
0 sfa mm&ggc&r lﬁlmmf.lqaaefr 2_alienen
D) 1&5&@@@;&5 Beneorg Qmuu[f,]smem Q& aoTLg).
54. Which of the follawing can be the units for cell constant of a conductivity cell ?
A cm? _ B) scm-!
0 cm-! ' D) cmZeq-!.
Sereugeuaeuppiet orgl L5 saafldr o vrdldsePu sws 7
A cm? | -. Bl sem~!

C) cm-! D) cm?eq-!




55.

Identify P, Q, Rand S

15 . 805

The shape of a graph with atomic number of elements against electronegativity
of elements is given in the dlagram

- Alomic numben
Pyl ot

Al P=H; Q=F; R=Cl; S=Br

Bl P=He; Q=Ne; R=Ar; S=Kr

C} P=1i; @Q=Na: R=K; S=Rb

D) P=Li; Q=Be; R=B; S=C. _ |

sflotsellds oigm aonmanyb supdlar aas Crr adt Bl serambauybd

- QEne® suempuiULL sueyuL_gHls Syewliy QerREslulBeters).

K| Q.

_ OTNEL E 50 ST
£ vty

lechome

Abtoniic numben o
Pt st

2196 P, ©, Ruppid S gy fluaipeps san@ls.
A) P=H;Q=?;R=CI:S=Br_
Bl PauHe; Q=Ne: R=Ar; S=
C) .P..='Li:Q=Né';R=K;S=Rb
D) P=Li; @Q=Be; R=B; S=C

[ Turn over
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56.

57.

‘has

16

Which is not correct about K 3 [ Co ( NO, ) é ] ?

A vDiamagnetic" in nature

B) The complex is derived fr:;_m Co2+

©) d2sp3 hybridisation is involved

D) Charge on coordination sphere is - 3.

K, [ Co ( NO, )6 ] upBlu e1hs snbpl SeupTengy 2
A Lursrhes setew Gt g

Bl Co2+ Q'Mwﬂeﬂuﬂ@gbgj Gerfob QupLicL_g

Q) d?sp®genssany 2 g

D) s ugdlar Deraen — 3.

Both morphine and heroin have the same molecular structure, except, morphine

A)  methyl group in the place of acetyl group in heroin

'B)  methoxy group in the place of hydroxyl group in heroin

C)  hydroxyl group in the place of CH 3COO0 group in heroin

D}  acetyl group in the place of hydroxyl group in Heroin.

wridlgid Qemymilgnd 67 apovsaan g{;uvmunj']su)mru Quﬁ;@eﬁafm ST
wiri e '

A .Qgﬁ-)mgmﬁlsoﬂdn 2 efen il Qsrodest uﬁ,‘leﬁrm Guogle QpTed 2 6ierg

B) Qangrdlefé o srer evamiyréde Qgrefsey uflares Siarsdl Cgred
2 _eferg) "

0 OGanymiefles o eter CH 3CO0 Qg,rr@gﬂfﬁ@ﬂ_ ugleurs el gréelléd Qpred

2_eieng)

D) -Qapgrdleflés 2 sfrer amant yrsde Qzredlsen uflars SEiLols Ozsrgd

2 eieng,
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58. DDTlis prepéred by the reaction of chlorobenzene with

59.

A)  acetaldehyde B)  chloral

C}. acetone - | D) trichloroacetic acid,

DDT gurflpgelics @GenmCym Gt Fapy_sbr afleneorL@eugy - |

A S é g eman( B} @Cermyé _
C) Qe D}  Lerelamlyr oéliys oifen.
Among the follbwmg which is sulphadiazine ? |

| A
A H,N @— SOzNH.i?)

Bl H,N —@— NHSO, i@
o LOL o, (T

2
NH,

0 OL o

psaam_ahile ag souraluddr 1

' N

a w0 som L0
/\

B H,N —@— NHSO; i? )
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60. The sequence arranged in decreasing magnitude of crystal lattice energy is
A) NaBr > NaCl > NaF > Nal B) NaCl » Nal » NaF > NaBr
€) Nal > NaBr > NaCl > NaF D) NaF > NaCl > NaBr > Nal.
.uqa.mam_(a 24poé wHiyseild Gphie sufﬂsm&smu.lg, Carhole® :
A NaBr > NaCl > NaF > Nal B) NaCl> Nal > NaF > NaBr
C}] Nal»> NaBr > NaCl > NaF D)  NaF > NaCl > NaBr > Nal.

61. Choose the correct order of increasing bond lengths :
A O-H<C-C<C=0<C-5 B) O—H<C=O<C—C<C—S'
O C-$<C=0<C-C<O-H D) C-C<C=0<C-S<O-H
Seneomicy Seniisefan sfluren gpeufiomemus Qefpes® :
A O-H<C-C<C=0<C-S B O-H<C=0<C-C<C-§
O .C-S<C=0<C-;C<.0-H D) C-C<C=0<C-S<O-H.

62. The efficiency of Carnot heat engine working between 273° C and 546" C is

A 01 B 03

C 2 D) 05 7

273' C @b 546° C @b @sﬁu_uﬂé: Qame‘ou@fm &,rr'ﬁ'GuTrrl;rG\_sulllu @m[_fﬁg‘ﬁgééﬂs&r
Qewddpei '

A 01 ' B 03

o 2 - ' | D) 0-5.

63. Water gas is a mixture of
A COandN, | 'B) CO,andH,0
C) COandH, | D) COandH,O.
g{ﬁmnmﬁﬁlé& o elren Haene
A COupgd N, B CO,uwppb H,O0

O COwppb H, 'D) €O wpyid H,O.




64.

65.

19 8-08
The general formula for energy of a rigid rotor with rotational q{:antum number J

A BJ(J+1) Bl BJ+1

o BI-1 . D BII-1).

Fiph8 Geurakt i et J Lefren snen sl gubhpaussme Qurrgj aumbur®
A BI(J+1) B BJ+1 |

0 BJ-1 - o D) BJ(J-1).

The energy profile for a hypothetical reaction is given in the graph_.- '

The mechanism for the reaction is

Step 1 : A+B=2¢C
Step 2 : C+B - D
Step 3 : D+A - F

Overall 2A+2B- F
Which is true about the sysfem ?
A) Step 3 is the fasfgét step |
B) A catalyst would affect the potential energy of each step equally -
C) Theratelawisrate=k[A][B]2 |
D) Theratelawisrate=k[A]2[B]2

[ Turn over
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spume  allomar gardlar yppd Curse dpsscur  aeruLdle
QerRsaGerang. Gealmendea aufiwpeop ‘

i
‘.q.
ey
E 1 !
g .oy
g | ] Y2y ug 3
(1—£1UI.Q.I! }
. 1 j
aflenareufl
g 1: A+B=2C
ug 2: C+B->D -
ug 3: D+A - F

Qurgieures 2A + 2B F
Sjeniplienii b aﬁl@mﬁw&mmqﬂ: QETeiT( 2 Gt SaD) 65 STEIN HTENG 7

A g 3 gflau’ s Gousd QaTTLg

‘B o@apgl ugsefldr dae .%;brpémaqub,@@ afloarGous wTpd swwrs

66. .

uTHl&@id
C)  elemer@ous sweun® : elenenGeauab = k[A]{ B2
D) olleerGous swaur@ : allenenrGeusd =k[A]2[ B2,

Four litres of a gas are contained under a pressure of 1140 mm/Hg and a
temperature of 273°C. The volume of this gas { in litres ) at S.T.P. will be

A 15 B 3
0 45 ' D) 9.

@6 sumy 1140 mm/Hg siuwssddlgd 273°C Qaludomalign premg it se

- erey QupBiebes. Sl Galufloe Susssde ( S.T.P.) szar sar ety

(HLfd )
A 1.5 ' B) 3

[4]

C) 45 D) 9.




67.

68.

21 ' S-05
The binding energy of the ;He nucleus from the following data

Mass of a : H = 100728 am.u.

Mass of a é n=1.00867 a.m.u.

Mass of a ;He =4.0015 a.m.u.

0-03040 MeV

B)  0-03040 x 3.0 x 10 1° MeV

C) 0:03040 x 931 MeV

D} 0-03040 x 6-02 x 10 23 MeV,

Sereuiv efleuriimefelmsz 2 He e amalle ﬂmmﬂq.l%ﬂ)wmmis ST
iH & Bleop = 1-00728 a.m.u.
éna‘sr Blevp = 1.00867 a.m.u.
2 He dir flesp = 4-0015 a.m.u.

A 0.03040 Mev |

B) 0-03040 x 3-0 x 1010 Mev

C}  0-03040 x 931 MeV

D) 0-03040 x 6:02 x 1023 MeV,

Which one of the following is an anti-knock compbund of petrol ?

A) n-heptané B) 2,62 4-triethyl octane

C} tetraethyl lead : D) 2, 2, 4-triethyl hexane.
ﬁs&rmugmmm;busfr &g G\uL'_Gl;r_rraSIséT e SlrGeg Garwb 7

Al n-enQLebr B) 2,2 4-Ler reamge 2, 5CL 6y

Q) Quigr rengés Qeul D) 2 2 4-Leop reger asGssr,

[ Turn over
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70.

71.

22
To what W q@ fdb]rﬁ[ HCI1 be diluted with water, so that
the pH of the so ugon become£l
A) 23 mL 7 B 110 mL
C) 50 mL D) 40 mL.

20-0 mL sar geraysiter O0-1 M HCI sengae abs e,s&rcgqeﬂqé.@ ﬁr‘réa&sﬂuuura'o, 2|0t
pH vy 1-3 g8 wrpd 7

A 23 mL B) 110 mL
C) 50mL D} 40 mL.
Which of the following is not an mtérfeﬂng anion ?

A coi” - B F-

o Cc,05 - D) PO
BleoLyn syrs sré]rh&em aqu.msﬂemmg; QefibQsd

A co?" B) F-

Qg Cc,02" D) PO.”.

The percentage of nitrogen in urea is

A 288 : - B) 343

C) 466 . D 522

yhlurelé o erer enpLlymeflssr spaisib

AN 288 | B) 343
O 466 D) 522.

72.

An 6rgan1c compound P on reduction gives compound @ which on reaction with
chloroform and potassium hydroxide gives R. The compound R on catalytic
reduction gives N-methyl aniline. Pis

“A). nitrobenzene B) aniline

C) methylamine D) nitromethane.

sfloé Getd Pp@ésver by Q oas shss. &Cermlrrurid, QuriLrdub
oapLyrésmev® & w gﬁ\ﬁ\m@ R aflan ey, &8
Wsiedtlemeullés 9®&E§ZL Eggg,;i : A&% 13 eﬂé L@ STeTLg

A mg,ﬁ.@qrr@uc&r_a‘fsin B) syefelen

C) Quglé opder - D) o Qv SCae.




73.

74.

75.

.

| 23 . so8
Which base is present in RNA but not in DNA ?

- Al Cytosine B)  Guanine
C} Thymine - D)  Uracil
RNA 6 2_dliem g emmér DNA & @léoams smyd erg 7
.A} el G élei B) GeuTemeiel
C)  evgler D) yGrde.
The fbllowing compound is used as what type of medicine ?
OH '
' NHCOCH,
A)  Antipyretic B} Analgesic
C) Insecticide ' | D)  Anaesthetic.’

dereumhn Carwb apg alens GHSTE LueTURSDS 7

OH

NHCOCH,
A &b 55 7 | B} euell Hleumyeh
Q) Rédls0Emesd D) wubsapry..

Equal weights of radiocactive substances X and Y with half-life 5 hours and
1 hour respectively are taken separately At what ﬂme will the weight of X be
four times that of Y ?

A) 5:6 hours B) 2-5 hours
C} 29hours . - D} 39 hours.

Xobpid ¥ du B@ sdfuss Csrohsefer ey et sred apepGu 5 e
Cpppd, 1 wewll Cpruwd SuEb. swaoL Garawl Gl Cerwvisgmd
petl s el Guw QUCEE LIS Lol (VI o1 abs ere amaﬂéo Xean aqeo, Yen
erenL_eowl) QuetTyry pTeNE WLKSTE @@5@3 1

A 56 uvaxf Cryb B) 2.5 wexfl Cpyid
O 29uwe Cpyip | D) 39 wexf Cpyid.

[ Turn over
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77.

' 78.

- 79.

80.

24
Which vitamin is 1, 4-naphthaquinone derivative ?
A K, . B)Y D
C) E, : D} B,

1, 4-prign@iliGearrafler Qupdurs o sier eveul L 1bledt erg 2

A K, | B D

Q) E, ‘ D) B,

A person is hurt on kicking a stone due to

A) reaction B) mass

C) velocity D} momentum.

L) saedlemer 2 agsGhOUrg GHMUGHS 3¢ ghuBaG THaTe ?
A  adlielienen B dep

C) dlameBausd - D} 2 ks,

Which of the following harbours is not a natural harbour ?

A)  Cochin : B) Chennai

C}  Mumbai : D)  Paradwip.
Fpsergmid gopupshseils aig@pusd GUbasLTE GODUSD Sihe 7
A Qarsdlen " B) Geeement

C) @ibeu : D) urrrjﬁul.'

Recently one Indian cricket player has become the Sixth Batsman to score
10,000 runs in Test Cricket. The name of the player is

A)  Sachin Tendulkar _ ~ B} - Virender Sehwag

C) Sourav Ganguly ‘ D) Rahul Dravid.

sfupdle @hdu ANGQeL afyiseiie 10,000 gritsemen CLav. oL bsafld
aBss upreug wilen alyflér Quui adrar ?

A)  s88lett QLTTRRET B) ofCridly Ceeumd

C) Qe HEEGE . D) gred Symall.

The battle of Wandiwash was fought between

A) Marathas and Portuguese B) the English and the French
C) the English and Portuguese D) Marathas and the English.

aubseur il Gurt wrt wrGéHG Genwié BeLCubng ?

- A) wprlguiset whon Curtée ST

B) gadGauwiast whpb NQyEhassTyTas
0  adCawisst whnb GCurtésSuraer

D) wyrlguiser whb kel Gewr selr.



8l.

82.

83.

84.

25 - | $-05
Linear programming is designed by

A) B.F. Skinner B) E. L. Thorndike

C) L. P. Pavlov D) Clark L. Hull.
Criaufl L geng o meurdhdlueurt

A 9. au. svdlerant - B @) o6 sricmeL s
O . 5. uTeueed " D) fennité. ad. amév.

Which of the following first identified the Secondary Education as a weak link
and suggested improvement ? '

A)  The Tarachand Committee ( 1948) 7

B) The Secondary Education Commission ( 1954 )

C) The University Education Commission ( 1949 )

D) The Education Commission ( 1966 ),

Epsaa. GussEner a5 GoLBons adalifldr cugieupp Heaaau Wpaarapgedd
s fibgl, spoer Gooudss afleums saflug

A gmgregd sbllig ( 1948)

B) @eoLfload sdals @ (1954 )

0 udsmeseps soaléd Gu (1949)

D) saald g (1966 ).

Intelligenée test scores are reasonably stable after the age of

A)  one B) two

C) five D) twenty.

ahe auwdlhellar Sersaiupd panamod Cargeaman wliyset Haewureng 2
A gen | B @y

C wba | D)  @ous.

Which one is not an S-R theory with reinforcement ?
4A) E. L. Thorndike's theory .

B) Hull's theory

C} B.F. Skinner's theory

‘D) Tolman's theory of learning.

gL MBI 6T Falgl) GTEIL -GovhiaeT @oers Qlamerans
A) E. L gricden,éd Gereians B) QDey GlareTens

C) B.F. avdlérant Qarerans D) Guréweiar appe Caraiams.

[ Tum over
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86.

87.

- 88.

89,

d

26

The emphasis of National Board for Adult Education on Curriculum is that it
must be

A) need;based B) functional
C) job-oriented - D) production-oriented.

apS G shalsamren Capdlu ewrflud auelupsgh sEHsday smasdiiLb o
Gouedongug)

A Geauflar oLl B) - Qewdumiiger =gql.q.l_u.m:»l_uﬁlva.a
) Coumearlieou Cpréad D) 2 pusdlenw Crraid.

World First Aid Day is _

A) September 11 . B) September 12

C) September 10 ' D) September 9.

2. & WaaEal Henb eredrug

4A)  Gledbut 11 B) QsoLbuf 12

C) Gelbut 10 D) Qsllbut 9.

For the following scores
10, 11, 13, 10, 15, 17, 18, 15, 10
the value of mode is

A 10 | B 13

c 15 | D) 18.
apsaguL wHlCudrsErshE Wa0 willeu sansdf
10, 11, 13, 10, 15, 17, 18, 15, 10

A 10 B) 13

C 15 | ‘D) 18

Educational Technology means :
A) Technology in Education B) Technology of Education
C) both of these ' D) none of these.

sl pIuaiiug ereug ' _ |

A sdaildluég pluaiiud B soalder giuaiué

C) @gwh@@m D) @mﬁ)@sﬁ aginldeme.

Which one of the following is not a cause for forgetting ? -
A  When somethlng learned and not used repeatedly
B) Interference with present learning

C) Lack of reorganisation of the learning material

D} Learning on the basis of short-term remembrance.




S —

90.

91.

92.

93.

27
Sp&TET_cubniet 67 eyl wpHeamen san;rairrms‘ua: ?
A edposs Slebu Hebuy LudTuRSSTSE
B) shCure shpé Osramysiuder FHLTE
C)  shpe QUTELsameT LYY &{GU)LD.L'ILi AL -1
D) epdu sre ﬂmwaﬂs&r Sigtiueni e spus:
When the reason for acting is in the action, motivation is said to be- -
A)  extrinsic » : B) intrinsic .
C) extrinsic & intrinsic : D) none of these.

@&I.IJG\)LJFTL_IS].IDB’:I‘I’GDT sryeoid QEusURSSLILRD CUTpgt, SiBhHaeTeT m&&uu@gsgjg.m

A)  Oweusfluyp msmuu@g@gau

B} o effermiihg zem&alLBESgisen

C) Qeuefliiyp whEud 2 erenmihg 2nsslILESSIS0
D) @euboer ergiaybléeae.

National Integration Day is

A) November 19 : B) December 19

C) September 19 - ' D} May 18.

(Bg,ﬂm GEhdaaniy Herb aeng |

A)  meubutl9 B} gebufl9

C) QeslLbufl9 D) Gw 19.

The importance of Teacher Education was first emphasized by

Al the Woods Dispatch B) the Hunter Commission

C) Calcutta University Commission D)  the White Paper.
2wt soaliflsr pedusgusos paeid ausdlypsdusg

A alev GLavGLi & B  apeilLi sdlayes
Cl 56581 UAGMNESHPE SHiblayer D) Qleusiienerd e,

Taxonomy of educational objectives was first developed by

A)  Mager B)  Skinner

C) Bloom . . D) Thorndike.
saell Crréakisefls UISLIUTL 1) e06st (LGt (pgellés Syenggeur
A Goaf | B evdldant

C) e ' D) smicdmeLé.
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94. 'SSA is established for achievement of
A)  Elementary Edubaﬁon B)  Secondary Education
C) Higher Education s D)  Vocational Education. ‘
SSA arebiLg SpsaabiLappst asIOLSHTS THURSSILLL S 7
A)  Qgri_&ss saal Bl @eoLfloas sdaal
C) 2 wiadeal | D) Qarfipudpé sdal.

95. Whose philosophy is characterised as “Naturalistic in its setting, Idealistic in its
aim and Pragmatic in its method and Programme of work™ ? '

A)  Sri Aurobindo ' B) Gandhiji
C) Rousseau D) Tagore.

- guifld Gubame QeTeimamuyb, Crréasdle smbgs QaTeiansmwLDd (e
wHPId GlEeuaur (s S sdlé Luataramaus QErstansauyb 2 eren_sdlw sHgHuD

WTHERL W ?

4 i spealpsi B) &mid o6t
C) mGeur | D)  grgaf.
96. Multi-factor theory of Intelligence was developed by
4A) Charles Spearman B} E. L. Thorndike
C} L. L. Thurstone D) Dr. J. P. Guilford.
pimeamdaa eleraeh Le sTraNé QaTsiasam Garhpedsgeut
A)  srieveny eoflwirbedt B E.L GiriredorenL & o
C) L. L. sieu e D) Dr.J. P. HlaGurtQ. | o

97. Benzocaine is a/an

A). - antifungal drug B)  hypoglycemic drug
Q) cafdiovascular drug D) anaesthetic dfug.

Quen@erQisller g

A y@os ghd nehg B @op stssen uebe
Q) @§m STl &1065T WGBS D) B LWHS WEHHS. |

98. Presently used antacld is .
A norethindrone B) diphenyl hydramine
C) promethézlne ‘ D) omeprazole.




99.

100.

101.

102.

29 | 505
gt sifle vEpeTe #fL sTeRsRG LTS Sleug) ’

A piri aden Grmedr - B ewLdoears oap i

Q) yCymliggemass D) @Lﬁlﬂgﬁ@&né\).

What is the enthalpy of OH - ions if the enthalpy of formation of H o Olis

- 2845 kJ ol -1 ?

A -341-8 kJ mol-! B} -227-2 kJ mol-!

Q) -57-3 kJ mol-! D) -348kimo-!

B pebendler 2 @eurgd srsu‘rgrre\:Lﬂ +284-5 kJ mol - ! erafllée OH - gyuefuflein
aergmén eresrem 7 : _ -
A -341.8 &) god Cuore - ! B -2272 6 god Gord -

Q) '-573a§1g@¢cmn@~l D) -34-84) goa Gore -

On dilution of the electrolyte, what hapens to equivalent conductance ?

Al Decreases . \ C B) Increases |

C} Fluctuates _ | - D) Unpredictable.

Blesrugel Birspeler Qurg, Sisen swrer sLa@sHper sy wrpdps) 2

A geondpg B sifleflading

C) g.rrgjmrrg)n;eﬂm@- ' - D) Qeréeqpgurg. o
AH,-AH, |

AC, = *T"—_-;Fl— . this equation is known as

- A} Kirchhoff's equation B)  Gibbs-Helmholtz equation

C)  Gibbs-Duhem equation - D) Maxwell's equation..
AH,-AH, . L ;

AC, = —T—T— @l awebtum g &5t Glwrr

A dramd so&ur@ B) A1 -eToiom ey gweumQ®

A Alev-guyQapd swerurd D) wré&evGleud sweatur(.

Sodalime glass is made from which of the following ?
A)  Mixture of sodium silicates B) Sodium carbonate and silica
C) Sodium tartrate and limestone D)  Sodium amalgam and quicklime.

[ Turn over
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30
GsmrLnm a;ao‘qrmﬁrr&q & BT GTOTTLY ﬂmm@mmmﬁj@eﬁ e mhs QuUDILESDS ?
A |

Gamguid AGsL. o |

B) Qemguid sriuGer whpis Helle
C)  Gemgud Lmi Gyl whpud o1 GOTTIDL
D) Gamguid SWre&D HID &L &eSTaRTmbL.

Carrier gases used in gas chromatography are

A Hz.andCl2 B) HeandN,

C) O,and CH, D) F,andH,.

- aumy Hptiifiensdié LLETURSSILED STHE QTGS

104.

" 105,

A H 2Im§)g||.'n Cl, B) Heuwppbd N,

C O,wppdCH, D) F,wppdH,.

The mathematical equation for Beer-Lambert's law is

I ' - I
A A =logT B e=lg}
O A =logi D e =logi-.
0 - 0
St -eorouirc. aflddles amﬂg SLELTH -
I, I,
A A =logT B) ¢ =log
0 A =logi D e =logp-.
0 o]

In qualitative analysis, the cation that precipitates as its sulphide when H, S is

passed through alkaline salt solution is

A) an"' B) Bi3+

C) Sn** D) Cu?*.

vauflugiuriell®, arpBlee LUQ&&mg&sﬂs&T aflure H , S eumy
QequspruGibGuTs &l afpugargd Crtlidr suwe
- Bi3 +

A Mn2* B

Sn4* D) Cu?+,
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106. The reaction 2 NO [g) + Cl, (g) > 2 NOCI ( g) has the rate law '

Rate = k [ NO | 2 [ Cl, ] . The possible mechanism is - -

A ) 2NO = N,O,( s}ow equilibrium )
#) N,O,+Cl,— 2NOCI{(fast) B
B 1 2NO = N202-(-fast equilibrium )
i) N202 - N02+‘N(slow)
i) NO,+N+Cl, > 2NOCI( fast)
C 9 Ci, = 2 Cl(slow)
#) 2 NO == N, O, (fast equilibrium )
i) .N2.02+2_C1 —>2NCCl[fa_st}
D) j NO + Cl, = NOCI2 { fast equilibrium )
‘#)  NO+NOCl, -» 2NOCI ( slow).
2 NO (@umy ) + Cl, (aury ) - 2 NOCI (auryy ) @eisGou) aflemamiieh
Coums swetur@® : eleer@ouad = k [ NO )2 [ ('.3:12 ] @cﬁaﬂmm&»@ adlturtédes

gag Quflgpenp | |
A ) 2NO=N,0,(Cugerar suflee )

B

N,0O, +Cl, = 2 NOCl { Causwresn )

B) 2 NO == N, 0, (Gausurer sufee )
N,0, - NO, N (Gugener )
NO, + N + Cl, - 2 NOCI { Geuswres )

C) Cl, - 2 Cl ( Qugiure )

2 NO = N, O, (Gesurer suflerer )
N205+2C1 — 2 NOCI ( Geuswren )

D) NO + Cl, == NOCI, ( Geuswrer swdlase )

E = g B & g B =

NO + NOCl, — 2 NOCI ( Gugeurear ).

[A] , ', - , [ Turn over
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107. The molecule which can show pure rotational microwave spectrum is
A} HCl : Bl Cl,
0 N, '_ D) CO,.
\ midnaane Biyawnd BIHEIGU APGISHIDDE QsfCs®
A)  HC ' B Cl,
Q0 N, D} CO,.

108. The following : '

CCl,
is commonly knovwmn as )
. A) DDT B)  Aspirin ‘ .
C) DDE D) BHC.
. S
Cl —@ ?H -—@ Cl & Qurgieurss QUi 7
A - DDT Bl sendifler J
C} DDE D) BHC.

109. Nylon-66 refers to a sjmthetic fibre produced by the combination of
A)  hexamethyl benzene and hexachlorobenzene
B) hexachloroethane and n-hexane

C) hexaminobenzene and malonic acid

| D} hexamethylene diamine and adipic acid.

@paraT-66 aadug Ulereumbd .srﬁg,(‘é&ﬁmﬁa,m Qetpa CupluBd Gewuhens Genp
A QapsstGwdld. Quetdaun whnb Cansst GGerreGenTyr Qe

B OQan&srglenmGryr #Gg@_ﬂb whHph n-ClamsGegub

O Oanssr sufGam Quedgid mﬁ)@tb wGereais Spfleqpid

D} GQanésn CudleSe e wleub wHpd Sug0& Sublapd.
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_ 110. The nuclei¢ acid having binary basic binding sites is

111.

112.

113.

A) thymine : B)
C) cytosine D)

A)  aglen : B)

Cl eas CLrflen D}
Barbituric acid derivatives are used as
4A) antibiotics : B)

C} non-narcotics ‘ m

 guanine

adenine.

Q6 srmilamyy ewwub Qarr. Husdls sfagdd o o sTTLES)

@eumeoTe

<D ETEOT 6T

antihistamines

tranquilizers.

urtyyfé sflesdler auflQurE: sefler 2 LGuran

A mangmli adflurs B}
C Cureng gédlurs | | D)
Female sex hormone among the following is
A} adrenaline | | 3)
C} cortisone D)
ﬂs&rm@mmm@@sﬁ Quetoturelles gomirGuomes
4A) o ferelen B)

C) | sy Carredr ' D]

geleuremw KEdurs

60T SiEoDgly I Ig W s,

_estrogen -

testosterone.

ere Grm&ignedt

: @L_d\)GI_iTGiUI.q.GIJI'l'GéT;

The product obtained when bromine water reacts with ethene is

OH OH
A H—(ll—(ileH | B)
H M
Br OH.
Q H—(li-—-(l:—H D)
H H

[r-48] [A]

Br H

| |-
H—C—C—H

{ |

H . H

Br H
. I |
H—C—C—H
|
Br
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114,

115.

- 116.

117,

. 34 ,
redlen 2 L et 4Gymesr ﬁrr aQememul (@ Hem &b allemerClum st af@éssasdtm_éﬂj)@é)
el 7 ' ' S _ - ‘
OH OH | Br H

A H—C‘:—(l:——H B) H—'-cl)—é—l-i
Br OH Br H

) H—C—C—H D) H;cl:-—é—H
B OH | Br H

The compound which will be most easily attacked by an electrophile is

A) chlorobenzene B] benzene
O phenol - | D) toluene.
TSHLITTE SHeull &,Uamﬂ'&mumrra Bn&s&se.qu Gabb
A @CemGyr Quendein B) Quender
Q)  JSemren . ' D) G}grrguuﬁ\a&r.
At cathode, the elecirolysis of agueous Na , SO , dives
A Na : B) H,
C SO, . D} SO,.
[ﬁrrwdaa,mg&e&eu Na, SO L&mmrrgp u@u@m@urrgu it L&sur@msmuﬁldu eﬂsm_uug
A) Na . B} Hy
Q) SO, D) SO,.
The least stable among the following is -
A L B} Be™
C) B- D) C-
: ﬁlmm@mmmgb@sn ;ﬁmm&smmw GopaTs 2 siten Sjustlananus &esrL (Dl
A Li- . : _ B} Be~
¢ B- - ‘D) C-.
Radiation that can be stopped by air is
A) o-ray ' B) o [i-réy |
C) yray D)  X-ray.
srpPeammes HH&HSLURD asé\rrai’éar R
A o-sdit B PBafit

O vaiit D) X-adit.
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118. The reaction of ammonia with silver is used for ldentlfying silver ions. The final
stage in the reaction is

e g

2NH,(ag) +Ag*(aq) — -[Ag;.(NH;)zrlaql

The Lewis acid and Lewlis base in this reaction respectively are
A Ag*: NH, B} NHy;Ag*

[2e(v1,),]" 5 on- D) Hsof;[Ag(NHa)z]f’

2oCoreflure st QeusteNlifier aflenes, Qeusiraf) suellsmaéd sd_fu
vwusuGHpg. @nd Hoadld Geualameanier swaur® : '

2 NH (o ) + Ag* (Froin) - [Ag(NH,), ] (Bron)

Gresalemaniles emilen siblet wppud gyrulen srynp apenpCu

A) Ag*: NH, : B) NH,;Ag*
+ : +
[2e(mia), ] s on- D mo0ti[ag(nm,), ]
“119. If radium and chlorine combine to form radium chloride, the compound is
A)  not radioactive ' B) twice radioactive as radium
C) half radloactiveasradium = D) as radioactive as radium.

- | Crywwb @Cermflgn Cerbg Gygwi (?;@WITG&)IJ'G Sen_ggre §)¢Geriwb
A adlfwses getanowhpg '
B) Ggqmé@g . @i sdfusasd getteoln QupFlpg
C  Gugwgdler &ﬁﬂm&a&é 5é'srsmmuﬂlé\: urHurpgl
D) Gryuges Curénlp sdlfiuéss saran Qa:rraim.g}..

O : N :
: [ :
120. In @— cC—0 —@ - electrophilic substitution occurs at
I o

A)  ortho/para at the first ring - B}  ortho/para at the second ring

+

; - C)  meta at first ring ' D} meta at second rfing.

@ S | | : . [ Turn over
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. o |
@ I(g —0 ——@ @b @nm&a#rﬂé: &L TreT Seul uﬁaﬁ’.@

I - 1 | |

aSeman Hlapid enpwid

A W ametuidlesr FECHET Sievgl LITFT

B) @yeomd suememuBHett 4 THCHT Sjdoevg LITHT

C) e cuamenudlesr Gl

D @yednid cueverwpSle Gl L.

121. The most reactive towards elimination reaction among the following is

A) RCOO- B) CN-
o NOo; D) RO-.
Geeumeuaeuppiet, B&ad almamafia fle aﬁ\msﬁé{lmsifr Q& oL gl
4 RCOO- Bl CN-
C) NO; - D) RO-.

% | \ . . o

i H
122. 2ZH—C—H+NaOH —#» CH3;O0OH+H—C—ONa

This is an example of

A)  Benzoin condensation B} Cannizzaro reaction
C) Tischenko reaction D}  Schiff's reaction. '
O , O

I : [
2H—C—H+NaOH —» CH3;OH+H—C—ONa
@)g aeuums allmanse TOSHHSTLR 7
A - Quersmilén @pisad - B)  erafen@nm afenen
Q) 1§ QeyerGar allanes D) evdll allens.

123.’ When optically active o-phenyl ethyl alcohol is reacted with thionyl chorlde the
: product obtained is

A} racemic mixture of a-phenylethyl choride
'B) a-phenylethyl chloride with opposite optical activity

C} o-phenylethyl :chloride with retention of same optical activity
.D)  optically acﬁve p-phenylethyl chloride.



124.

- 125.

37 . 5-05
gofl spdod parow QeramL o-fNoad asde yoeaprar @ sCuTameré
GGemranr® ellearyfiba feoLs@n alaerGurms
A ateoeare adléd glammeayger siflurl soaa
B) &gl gefl spbmd gé&rmm QereoL o-Ulamerd adlé @Rerran(

Q) g5 gl spbnid getew Garaa a-Jead ade Glamany®
D) gsflapbnid saramvymiy p-Uomad adld @CamanQ.
How many isomers are possible in [ Co{en),Cl 2_] ?

A 1 | ‘ B 2
c 3 | D) 4.
[Colen),Cl, ] & appmen gpGarGuoissi HenL_5858.00 7 |
A 1 ' B 2
C 3 D) 4. :
Butyne-1 and butene-2 can be distinguished by the chemical test,
A) Molisch test , B)  Azo dye test
C) Tollen's test . D) Schiff's test,. |
ILSIQL_GO)L_GOT 1 ppib ﬁgl..tesm 2 9 Hlucupeop Cougupsd odlyd Ceuds (B&rrgsmsm
- A Goreley Gengpenar B oGsramu Gempenem
O Lneet Gergemer 0 - D) evdll Gamgeve.

126.

127.

[A]

The decreasing order of stability of the following hydrldes is

A PH3>~BH3->SbH3':»1"u='.H3 B) SbH3>AsH3>BH3>PH3
© AsHy>PH,>SbHy>BH, D) PH,>AsH,>SbH,>BH,.
.Lﬁls&rm@m mmﬁmﬂg@&aﬂs&r Bl ssatawulde Gpig suflens

A PH3>BH3>SbH3>AsH3 B) SbH3>ASH3>BH3>PH3
C) AsH ; > PH > SbH 5 > BH 4 D) "PHy;>AsH, >SbH4>BH,

Lithium hydride reacts with aluminium trichloride to give'

4) lithium chlorohydride B)  aluminium lithium chloride

C) lithium aluminium hydrlde‘ t)) aluminium hydrochloride.
Sigflalud ey @Camar@Len eladub soamt ey® elaeaiiu @ de g

4 Nsdud ©GeGyr apor@ B) a@;ﬂsﬁﬂmﬁ NgHud Cerran(
O  dgpdubd sgfalud ant ek D) Q@Lﬁ]co‘ﬂu.l_in oan. CrreGaman@.

| Turn over
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128.

129‘

130.

38

The geometries of Ni { CO } , and Ni ( PPh )2 Cl, are

A}  both square planar

B) tetrahedral and square planar respectively

C) both tetrahedral

D) square planar and tetrahedral respectively.

M (CO) ,wpgid Ni ( PPh ) 2 Cl, aiaﬂu.lmrj)qﬂe&: Siwlmelr
A)  Guaa@d sgysenin

B) weonCu prétwd) whpb sgrsed

O @Quand prérwd |

D) ewGu sgggend wbpp BreTapd.

If n/p ratio is high, the nucleus tends to stabilise by
A neutron capture | ‘7 B)  losing positron
C) o-ray emission o D) ﬁ-i'ay erniésion.
- siggsagaldt n/paldlghd sflswrs Grscoramd, S5 Hoaiudss Celug
A Pylore seurge , B) uréllgren Gusse
Q) o-adf afss D) p-adi alés.
Uranium isotope used in atom bomb is having mass number
A 231 | B 233
C) 234 e D) 235.

131.

ST Gorg.é uweLHd YCrefud eGarGrililer Hlenp ercta

"A) 231 : B} 233

Q) 234 ' . D) 235.

The transition element which has all its d-orbitals filled in the ground state is
A sn B Ag
.C Cr o D) Fe.

d-g o Lréd Hlepey Qupp oL Hlaews seflod
A sn - B Ag
¢ Cr \ - D) Fe.

(A}



132.

133.

134.

39 ‘ , _ 5-05
Talc used in Talcum powder [ Mg;Si, 0,0 (OH )2] is the softest mineral
silicate . This is because
A)  of layer structures held by van der Waals’ forces
B} Mgisa very.soft'elemenf
C} Si-0 bondé are very weak
D) the presence of OH gives softness. ,
WELIY &5 uap_rﬂm ( LTésbd ) LuSTURSSLIUED Lrdé [Mgs $1,0 0 OH)2]
HGa grauur@raeis Blaeyb Lﬂ@gjsurrmgl. @epes eTyemD
A aréiLi and alemsurd sariulL HOEGST Qe ey

B Mggoe Segarar galio

Q) Si-0Jdoamiy bs m@lmfbw

D) OH Ggred tﬂtwrb ﬂammwmw@ sGHDG.

The vapour pressures of ethoxy ethane. propanone, n-heptane and n-hexane
respectively are { in kPa ) 57.855, 23.541, 4-655 and 16-093. Their boiling
points ( in °C ) in the same order are

A 347; 564: 68:98 B) 34-7'; 56-4; 98; 68
C) 68; 98; 564; 347 D) 564; 347;: 68; 98.

rered #Cser, LGrTLGaTe, n—G\gu)uGl_a'sr wibpd n-QansCser sy duaupiiisr ol
Spsshae (kPa & ) popGu 57-855, 23.541, 4.655 wppd 16-093
@edyanmsefler Qardiflaess [ °C & ) peopCu :

A 34.7; 564; 68;98 B) 34.7; 56-4; 98; 68
C) 68; 98; 56-4; 34.7 D) 56-4; 34.7: 68: 98.

The density of a solutton of 20% [ by weight ) KI { mol. wt. 166-03 ) solution in
water is 1166 kg.L . Its molality is

A 140M : | B) 145 M

o isom D) 155 M.

erenL g 20% KI l@eoasan@ aeL 166-03 ) Frésoysdar o isd 1-166 4). o -1
&ésa.mg&eﬁls&r (errmrreS\L.Lq.mu.l& TGN

A 1440 M. S B) 1.45 M

Q) 150M | D} 1.55M.

[ Turn over
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135. Vitamin, which is not soluble in water, is
A) Phylloquinone B)  Ascorbic acid
C) Thiamine . D) - Cyanocobalamin.
Bpflé sequrs eneuriBer
4  ouBargdiGarren - B evesniis spfled
- ¢} m,quLﬁle&l , D) swGann@smrumoubles.
136. The reagent that does not react with glucose is
A) Fehling's . _ B)  Hydroxylamine
C) Phenyl hydrazine D) Sodium bisulphite.
' EpsGarsL e allevaru_rg é»rymsﬂ ‘
A Guginedhi o B) eanipréfeudlesr
0 Ooend engmi_yflesr D) Gemgub smusdenul(.
137. In the S 2 reaction mechanism, the most reactive among the following is
A C4H, . B) CH CH,Br
C} CH,;Br D) (CH4)4CBr.
S y 2 afler auflapenmuiien, d]é&rcu@mmsugb@jﬂi fle aflaendipen Carao. Gefwb
A C4H, | . B CHLCH,Br
C) CH,Br D} (CH,),CBr.
138. Match List I correctly with List II and select your answer using the codes given

below :

List I . ListW

Acids ' pKa values
a) HCOOH 1. 476 |
b) CH,=CH - COOH 2. 488
¢ CH,CH,COOH 3. 425
d CH,COOH 4. 377
Codes :
a b c d
4 3 2 1
B 1 2 3 4
o 2 3 4
D) 3 4 2 1
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L.IL.I.q.lLI&I T ulique IT o (e QuUTESS £Cyp Garr(aﬁﬁuul._@mm @gﬂuf@eamsrrs:
Canao® sflurer Lo CatbQed :

uCgwé I urigwé II
)P eodien eit | - pKa ngloy
a) HCOOH 1. 4.76
b) CH, =CH - COOH 2. 4.88
¢ CH,CH,COOH 3. 425
d CH,COOH 4. 377
Gopser :
_ a b c d
A 4 3 .2 1
B 1 2 3 4
Q 2 3 1 4
D) 3 4 2 1.

139.

Pyrrole is less basic than pyridine because pyrrole has a

A)  pair of electrons as a part of aromatic sextet

B) proton that can be donated

C} smaller ring than pyridine

D) cyclic diene system.

Uiflg emeor nﬁh_ HIGynés @epairar srysgEein o sierg). gGarais dl(a"mreﬁlé) 2_efrem

A) crma,l_l;rrrm @l;n_mi.. GGy s o Greué;l_l;rrrm Qareiniie smawrs
Qwéng

B) apbgbd Hoewlle yBrm e 2 rers

Q)  ceerud Ifed umerugeng ol Hflug

D) euemenw enuSe gyemotiy 2 efrerg.

140.

Blue colour obtained as a result of borax bead test indicates the presense of

A Al | B Co

Q0 M S D) Mg

Cumpméev wen (B&rrﬁa»muﬁléu smu@m po Bpsdbe srmremnd sHd 2_ciren
A A : B} Co

C M . D Mg

[ Turn over
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141. The compound which gives the most stable carbocation on dehydration is

142

(4]

‘A (CH,), CHCH,OH Bl (CH,),COH
0 CH,CH,CH,CH,OH D) CH,CHOHCH,CH,.

abp Gshwd g pesvepy sPeuls Hoapsden o eer sTrGur Cpribldr

Suafiaus Smd 7

A) (CH,4), CHCH,OH B (CH4), COH

€) CH4CH,CH,CH,OH D) CH,CHOHCH,CH,.

. Observe the molecular structure below and name the compound :

| H, N
0 | N |
N PR
P ..
Ha N
A) Sulphadiazine - C B)  Sulphapyridine
C) Uracl D)  Protosil.

BPpéoai.. ek ewiilamars: Qaran. Getuosdledr Gt

_ Ha N o '
° . .
N & @ NHj
”
HaN '
A . sdwureLwden B) sdurdfied
O yGrée | - D) yGymiGLméle.




143,

144.

- 145.

43 ‘ - 8-08
The set that wﬂliorm a buffer when dissolved in water to make 1 litre of
solution is

A) 0-2 mole of NaOH and 0-2 rnole of HCl
B) . 0-2 mole of NaCl and 0-2 mole of HNO,

C)  0-4 mole of CH , COOH and 0-4 mole of NaOH
D) 0-4 mole of NH , and 0-2 mole of HC.

- §6 Lt Brésmpsors LrHPOUGD Gurra grilisd a.smg&meo L(I_F)ﬂ.lﬂ'é:@lh
. seamamug Q3fibos@

4A)  0-2 Gurey NaOH inpuin 0-2 Gurreés HCL
B) 0-2 Gurér NaCl wpgid 0:2 Guréds HNO 3

C) 04 Qumré CH 3 COOH wppid 0-4 Gurés NaOH
D} 04 Goré NH , wpgip 0-2 Guomes HCL |
Benzoic acid is 1:0% lonised in a 0-01 M solution as
C¢H4COOH (ag) == H*(aq) +C4H,COO" (ag)
Its k , value is _
A 10x10-8 B 1.0x10-8
C) 1.0x10-4 D) 10x10-3.
Gluearuls siflod 0-01 M sejsars @@é@m&mg} 1.0% a|u.166ﬂlurr$5du

S fpg
C ¢ H g COOH (i ) <= H+(£ﬁmm-1+csnscoo-(ﬁrmm)
Sisett ke, wdliy

A 1.0x10-8 B 10x10-¢
C) 1.0x10-4 : D) 1.0x10-3.
S | FHa
Electrophilic addition reaction of H3gC-CH=CH— C—CHg with HBr gives
CH,
, _ CH,
only HSC—(.l?H—-CHZ—C:—CH 3
Br ~ CH,

This is because of
A)  inductive effect _ B) resonance effect

C) steric effect . D) hyj:ercbnjugative effect.

| Turn over

N
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| , CH4
ssLgrer seit Gstbams eflmanilés HyC - CH = CH — c::e CH; wi HBr yb
CHj;
CH, o | |
cﬁ]maﬁuf.@ H,C— (.|'2H —CH— C: —CH ;3 eow L. GG sHSS- Qﬁﬂ)@ STHEoID | f
Br CHg
A) QT@%TLS'\) allemeney | B) oL allaeq alenend | ‘
C) Qe aflemeney _ D) goploariy aleerey. ‘

146. Which of the following has four significant figures ? | !
A 0.0011 o B 6023x1025 R
O 23200 . D) 38x101, - o
ﬂmm@ﬁmmgb@m gl BTENE @&Jﬂm;gﬁm Timsenens GlamedorHeirengl 7
A 00011 o B 6023 x 10 |
C) 23-200 ' D) 38x101°,

147. Benzene diazonium chloride on reaction with phehol in weakly basic medium

gives

Aj p-hydroxy azobenzene ' | .
B) -chlorobenzene |

C) benzene

D) diphenyl ether.

UYGDDHS srfloads Cudidds oLwuGsralub gCarar@ Sarmgi e
alemaul f feoLsgh aloaburmst

A peoaplgrsd) HCerCuedide
B) @8amGyr Quenden
Q) Querdesr

D) eoenemés meii.
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3
B 2 i 3
Q 2 3 1
D) 3 | 2 1 _
Ligué T ulgue Mo @ Quigsd &8 CaTHasIL Gefter @@ﬁi’@amdé

" Qaran@ eflurer udmeais CatHOsE 3

ucgwé I : : ulgqué I
Senm’ g engdledr syememsey Gsitwh Slemre_iq eor 5 glesr %é&eﬂg@smrj}g Hlemen
a PL(CO),(PPhy) 1. +2
B [(CH ), Pt(H,0),]Cl 2. 0
) K[Pt(02H4]C13] | 3. +4
Codes :
a b c
A 1 2 -3
B) 1 3

D)

- [ Turn over

N

148. Match List I correctly Qith List IT and select your answer using the codes given
below :
List I f . List I
Co-ordination compound of Pt ‘Oxidation state of Pt

a Pt(CO),(PPhy]), 1 +2

b [(CHg) Pt(H,0) ]Cl 2. 0

0 K[Pt[CzH4)CiS] - 3. +4
Codes : |

a b c-
A 1 2
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150.

| oH @ibapevssaesr aflume el eu-6ug “Siemwiilenenls QU EEgs

Which one of the following sets of quantum numbers is incorrect ?

A n=-1,.l=1, m=0, s =
Bl n=2 1l=1 m=+2, s
C) n=2 l1=1 m=+1, s

D) n=3, l=0, m=0, s =

46
149, Assign correct configuration of the molecﬁle
o | c'o0H
HO — (|: 2 H
H— é: *— OH
'(‘34OOH
A 2R 3R 'B)
O 2R 3S D)
c'ooH
HO — (l:2— H
H—C*—
lc“ovctH
A 2R, 3R B)
C} 2R 3S D}

1

2

25, 35
25, 3R.

- 28, 38

28, 3R.

dlebreugpid Geuradr_ b eretor Qgrelyseiies sflupps o 2

A) n=1. l=l|m=0.s=—

1

2
B n=2 =1 m=4+2, s = -%
QO n=2 I=1, m=+1, s = +-;—
D) n=3 1=0, m=0 s = -2
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( SPACE FOR ROUGH WORK )
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TEACHERS RECRUITMENT BOARD, CHENNAI-6. X05 (CHEMISTRY)

BOOKLET => A(REVISED)

1 2 3 4 5 6 7 8 9 10
B A C D B C A A B C
11 12 13 14 15 16 17 18 19 20
A A B D C A D D B C
21 22 23 24 25 26 27 28 29 30
A B B D C A C D C C
31 32 33 34 35 36 37 38 39 40
C D D B A D A C A B
41 42 43 44 45 46 47 48 49 50
A A A D C C D B D B
51 52 53 54 55 56 57 58 59 60
B C D C A B C B A D
61 62 63 64 65 66 67 68 69 70
B B C A C B C C D A
71 72 73 74 75 76 77 78 79 80
C A D A B A D B D B
81 82 83 8 8 8 87 8 89 90
A C D D A * A C C B
91 92 93 94 95 96 97 98 99 100
A A C A B B D D * B
101 102 103 104 105 106 107 108 109 110
A B B * A D A A D A
111 112 113 114 115 116 117 118 119 120
D B C C B B A A D B
121 122 123 124 125 126 127 128 129 130
D B C C C D C B D D
131 132 133 134 135 136 137 138 139 140
B A B C A D C A A B
141 142 143 144 145 146 147 148 149 150
* * D B D A A C B A/B
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